#A446

Garter Stitch
Triangle Shawl



how to

make

MEASUREMENTS

Width (at longest cm 160
edge, approx)

Length
(down the centre) cm 80

Yarn Required:
Lincraft Cakes 200g balls 2

DIFFICULTY ®

NEEDLES:

A pair of 5.00mm knitting needles.

A 5.00mm circular knitting needle, 80cm or longer.
Wool needle for sewing in ends.

TENSION:

17 sts and 36 rows to 10cm over garter st, using 5.00mm
needles.

SHAWL

Using 5.00mm needles, cast on 5 sts.

1st row (wrong side): Knit.

2nd row: S| 1 knitways, K1, yfwd, K1, yfwd, K2 ... 7 sts.
3rd and alt rows: SI 1 knitways, knit to end.

4th row: S| 1 knitways, K2, yfwd K1, yfwd, K3 ... 9sts.
6th row: 51 1 knitways, K3, yfwd, K1, yfwd, K4 ... 11 sts.
8th row: Sl 1 knitways, K4, yfwd, K1, yfwd, K5 ... 13 sts.
10th row: SI 1 knitways, K1, yfwd, K4, yfwd, K1, yfwd,
K4, yfwd, K2 ... 17 sts.

12th row: SI 1 knitways, K1, yfwd, K6, yfwd, K1 (place

marker around this centre st), yfwd, K6, yfwd, K2 ... 21 sts.

14th row: SI 1 knitways, K1, yfwd, knit to centre st,
yfwd, K1 (centre st), yfwd, knit to last 2 sts, yfwd, K2.
15th row: SI 1 knitways, knit to end.

Noting to change to 5.00mm circular needle when sts

no longer fit comfortably, rep 14th and 15th rows until
Shawl measures 75¢m (or Iength desired) down the centre,
working last row on wrong side.

Cast off knitways.

FINISHING
Sew in all ends.
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